Centre of triangle (HKMO Classified Questions by topics)
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In the figure, APAC, AQBA, ARCB and AABC are p
equilateral triangles. The points X, Y and Z are the
incentres of APAC, AQBA, ARCB respectively.

If the length of PA is 10 cm and the perimeter of AXYZ

is W cm, find the value of w. (Remark: the incentre of

a triangle is the point of intersection of the three

interior angle bisectors of the triangle.)
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In triangle ABC, AB = 14, BC = 48 and AC = 50 . Denote the in-centre and
circumcentre of AABC by P and Q respectively. Let the length of PQ be d units.
Find the value of d .
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PQR is an isosceles triangle with PQ = PR = 17 and QR = 16 . Denote the in-
centre and the orthocentre of PQR by | and H respectively. Find the length of HI .
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If the lengths of the three sides of a triangle are 25, 39 and 56, find the distance
between the incentre and the orthocentre of the triangle.
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